A% 2 5) AFLAE R R M ORI A

.HE O L WK BHICEE R - R R K AR IR g
L HE O 4 WK T2-9%F MU H S EAE IR T 5
3. L % o % FEJIET R ANIUE HIN
4. T F o & +ATEH
5. L F o #f = 7 ny)fE A=25m2
P T A=56m2
+ B DMt T (H=0. 8m) L=9m

N =

6. N KL £ A H aF ot M 12 A 26 H O(AK) 10 B 00 %4y

7. L #] SFo2 4 1 A 9 B ~%M 2 & 3 4 16 A ( 68 HMH)
8. T & i #& & 2,662,000 [ (HEBLLOMITEERZ5T)

9. AFLFE ELgAthA 4 2,420,000 [ (HBEBLL OIS HEBLEZ & ET)

10. A5 il R Aff #& & 2,325,000 ] (HEBLL UM EERZ5T)

11. e A il BR il 4 4 2,113,637 1] (HBEBLK OIS HEBLEZ & ET)

2. 2 K & # 4 2,640,000 [ (NTH&EBIAE 240,000  [9)

13. 2% % A B af o2 £ 1 H 8 H

14, BRHFOLHLOMER 4 B B =k RFEERER Tl &1
£ AT EEIETRTHATS 2 2 8 &
15. AALAER (GHEFLZE £

N MNFLA A i %

| i J il 2, 420, 000

2] @ R A 2, 420, 000

3w F 0 0= 2, 420, 000

41 & M B % @ 2, 420, 000

5 1 i el 2, 420, 000

o= R 2 400,000 HE 2,400, oﬁf%ﬁo = 2,640,000
0 BT N - S S 2, 420, 000

8

9

10




